
ST-UK250211

GBM1927
NO.
1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49

DESCRIPTION
260D spark plug cover 
screw ST5*16
32 starter puller
260D cylinder cover 
screw M4*20
32 starter
knob
260D air filter cover 
520S air filter sponge 
screw M5*55
choke iron block 
40-5 choke components
40-5 air filter holder
screw 3*8
34 carburetor
34 carburetor gasket 
screw M5*25
34 inlet pipe 30mm
inlet pipe gasket
260D Wind deflector gasket
260D cylinder
screw M5*22
spark plug BM6A
34 blower mulffer gasket
34 mulffer 
screw M5*55
extinguishing line 
screw M4*20
34 ignition
bakelite gasket 4*10*4
32 cylinder gasket
34 piston ring 
34 piston  
piston pin 8*28.2
piston circlip 8
34 needle 8*11*11
Woodruff key 3*10
34 Aluminum dial single start
oil seal 12*22*7
34 crank case
5*10 pin
opening bearing 6001
34 blower crankshaft 
34 crank case gasket
screw M5*30
34 fly wheel
screw ST5*16
260D right handle
260D throttle line

NO.
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94
95
96
97

DESCRIPTION
260D throttle trigger
extinguishing switch dust cover
extinguishing switch hull
screw ST5*14
260D Self-locking switch bushing
260D left handle
260D Self-locking switch
260D Spring seat
screw ST5*16
260D shock absorber spring 
screw M6
260D right hood
screw M5*30
screw M5*12
260D small base
260D oil tank
screw ST5*16
260D Base handle cover
260D Base handle
screw ST5*16
Micro switch
9*14*32 Steel bushing
260D Limit plate of base of wind wheel
260D blower wind wheel 
260 blower blade
screw M8*1
260D left hood 
screw ST5*16
Micro switch
260 Protective switch
260 Protective switch cover
screw ST5*14
screw ST4*8
260D protective cover 
260D protective cover trim
screw M6*20
pin 3.5*48
260 Torsion spring
gasket 5*16*1.5
screw ST5*14
260D flat pipe
260D main pipe
260D Inclined suction pipe
screw M5*20
screw M5
260D suction pipe
260D dust collecting pipe
260D dust collecting bag


